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B.Com. (Part-III)
Term End Examination, 2021-22
FINANCIAL MANAGEMENT (Paper-I)
(Group-A)
Time : 3 hrs. | [ Maximum Marks : 75
AT : G goTl B T ATT | TH T B SR FHIT & |
Attempt all questions. All questions carry equal marks.
[3TE—1 / Unit-I]
1.  TH 3MEfee SURH &1 fodia aio T daR d g9 fob-foe acal &1 e v 2 o faciia e
5 T & 7 vt A |
What consideration would you keep in mind while drafting a Financial Plan for an industrial
concern ? What are the limitations of Financial Planning & Describe.
3gar /7 OR
fafvrT, facae qer arvier Mol @i foer § ' iy |
Explain in detail investment functions, financial functions and Dividend decisions.
[ZTE—I1 / Unit-II]
2. YSi M SEEl & e w9 ARt @ auie Sy |

Describe the various methods of evaluating capital Investment Proposals.

3gar /7 OR
1T TSl # S 9T gEAT & SMER W qRASHT 36 6@ 009 ¥ T 9T © ¢
From the Information given below under the following particulars relate to Project No. 009 : 4
QRASTT &l AT
Cost of the Project 50,000

T Td Y b 1S B9 & Ued
Operating Saving after tax before Depreciation

I'Year 5,000
II'Year 20,000
III Year 30,000
IV Year 30,000
V Year 10,000
o1 Tomstl ® O 9o difters & T S | (1) A B Y S B T @A W (i) 10% ST B Hi
=9 | W@d 87 |

Calculate Pay-back Period under the following cases (i) Ignoring Interest Factor (i1) taking into ac-
count Interest Factor at 10%.

10% W Id9 T BRE ©

Present Value Factor at 10 % are :

Year I I 11 v
PVP 0.9091 0.8265 0.7513 0.6830

(P.T.0.)
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[3TE-I11 / Unit-III]
ISl T AT bl IRATT Ao | faf= it & 9Tt 9ot &l @ ol RT3 {6 9 e 2

Define Cost of Capital. How will you determine the cost of capital from different sources ?

3Yar /7 OR
T IAE Bl HHT B & T HWT T AT STHT STt & H B3 & | THeb! Yoil |eaAr - off
(i) 9% 19T (9% Debenture) Z 6,00,000
(ii) 7% 9YAIEBR AT (7% Preference share) T 2,00,000
(iii) &7 33T (Equity share) (2400) Z 6,00,000
(iv) gfcrenmRa 3T (Retained Earning) T 4,00,000

T 18,00,000

TH 3797 BT AR I T 40 % | T 4 Ui 39 &1 X A ATHIST YEIAGA & | FHPIAT Dbl FHIT B Dbl &<
50% & | Pl T AIRITRT STET @RI &1 TOT i |
The market price of Equity share is ¥ 40. A dividend of % 4 per share is proposed. The company has a
marginal tax rate of 50%. Compute the weighted average cost of the company.

[ZHE-IV / Unit-1V]
Ioil efar g &l AT=IaTd 47 & 2 QI8 3N SUNTH 7 guid iy |
What are the assumptions of Capital Structure theories ? Discuss the Net Income approach.

3gar /7 OR

TATHIST 1T 9T & ? 37 Hehl i AT B AT T HFAT I ATHIST AT i iR B 2 |
What is dividend policy ? Explain the various factors determining the dividend Policy of a company.

[HTE-V / Unit—V]

frer W feoy forfia -
Write Notes on the following :
(37) =maETae® 91 (Trade Credit) () URadH *T 9= (Convertible Debentures)
sgar /7 OR
T, %. TUEEIT (AT & qaTerd faes i u&ia fhd ™ % -
The following comparative B/S of A.K. Industries Ltd. are present to you :
319 (March)

2002 2003 2004
Cashin Hand 4,000 5,000 3,000
Debtors 3,000 2,000 2,500
Bill Receivable 4,000 5,000 5,500
Closing Stock 1,000 3,000 6,000
Investment (marketable) 5,000 4,000 4,000
Building 15,000 16,000 20,000
Furniture 8,000 6,800 7,000
40,000 41,800 48,000
Creditors 3,000 2,400 2,000
Bank overdraft 2,000 1,400 2,100
Debentures 10,000 8,000 9,900
Share Capital 25,000 30,000 34,000
40,000 41,800 48,000

Frisfia ot - feafer s wgfy @ feaz |

Show the trend in working Capital Position.

4,500



